1=1200
. 1234 3300 1930 136
BZE .
% ]
5
[a]
g .
WERSH TR
- TV — rEELR
L=1200 BIER | @@avoy—boED
2 5128 1432 2 PICFRRRETIER i (kN/f) it 1 (kN/ )
116 30 50 | 100 30 50 100
) ) ) ) ) abja-bja-b| a-b| a-b| a-b
[ i I i i H ;:; il I i I 30 51 620 500 500 410 410 410
i T T T T T— 14 620 | 500 | 500 | 410 410 410
‘3\
119
e 8 29
28 T3 S

oL 2 rava Z 77 @
7 ? j e Z 7 /, 7 /, ek A -
L fa | ‘ b | L b | L b | ‘ 2| Lo |
61 D1=2898 8 67 1234 3300 1930 136 @
BIEROBE tMavy - 1 EREROES @
T ERS RIEE I¥%4% B &' |8 %|# & @

wREA & YHK
23 I

B I HERE h—R—F FYr—2R TV I3 B 8 #HLEE ap
B 60847 n—Jty b BR 5T 1430 || /] ¥ea-A-coog ® fET-A1

\:ﬂ




